
P-SD4
Product names listed herein are trademarks of AS America Inc.
© AS America Inc. 2014

PARTS
BATH/SHOWER DOORS

DESCRIPTION PACKAGE QUANTITY*PART#No.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

1 piece

Left & Right, one for each

Left & Right, one for each

Glass Clip Left & Right, 2x Screw M4x12, 2x Screw Cap

6x Wall Plugs, 12x Screw M4x35, 2x Flat Head Screw M4x35, 6x Screw Caps

6x Screw M4x10, 6x Screw Cap

2x Stopper, 2x Screw M4x14

2 pieces

2 pieces

1 piece

1 piece

1 piece each

1 piece

1 piece

1 piece

1 piece

1 piece

2 pieces

1 piece

710332-101.YYY0A

710333-101.YYY0A

710334-101.YYY0A

710335-101.YYY0A

710336-101.YYY0A

710337-101.YYY0A

710338-101.0070A

710339-101.YYY0A

710340-101.YYY0A

710341-101.YYY0A

710342-101.YYY0A

710343-101.YYY0A

710344-101.0070A

710345-101.0070A

710346-101.0070A

710347-101.0070A

710348-101.0070A

710294-101.YYY0A

710301-101.YYY0A

Handle Set

Door Post Cap (L&R)

Magnet Door Post Cap (L&R)

Retaining Block Kit

Screw Bag 4

Screw Bag 5

Stopper

Top Roller

Bottom Roller

Magnet Door Post 57-1/2" (1460mm)

Door Post 57-1/2" (1460mm)

Top/Bottom Rail 54-7/8" (1393mm)

Fixed Panel Side Gasket 57-1/2" (1460mm)

Fixed Panel Mid Gasket 53-13/16" (1367mm)

Sliding Panel Mid Gasket  56-7/8" (1444mm)

Fixed Panel Top/Bottom Gasket  24-1/2" (622mm)

Magnetic Gasket  56-7/8" (1444mm)

Wall Post Cap (L&R)

Wall Post 57-1/2" (1460mm)

*NOTE: Part# “YYY” specify: 213 Silver
295 Satin

3

7

6

8

13

11
16

9 4

12

12

17
19

2
10

18

1 15

14

5

Sliding Panel

Fixed Panel

Rev. 9/14

SAVER® BATH DOOR
MODEL NUMBERS: 
AM00495.400 SERIES


